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cos“® cos“8  cos”B
2s81nO 1
- X
cosB cosH
=1-2tan0secH + 2tan?0 = RHS

LHS = RHS 3 fasm)

UY 13. AABC H, 2C = 90°, BC = 24 AW dUT AC = 7 AW 21 sin A, cosec A 9UT cot A
& HHE J1d PIfeTg|

=1 + 2tan’e



Bd: U AABC FOIIH £C = 90°,BC = 24 9HI dUT AC = 7 941 1
AB2 = BC?2 + AC? = 242 + 72 = 576 + 49 = 625

= AB =625 =25 9Ht 2

AB 25 &£
AB 25 2

24 T

‘BC 24 A 7989 C

UY 14. APQR T, 2Q = 90°, PR = 10v2 THI TUT QR = 10 AHI 21 sec P, cot P TUT cosec
P & HF JTd SIfeTU|

el
& APQR foaH p
£Q=90°, /PR=1042
Uit 41 QR = 10 Tt 21
APQRY, dEA g &, o
PQ*® = PR* - QR*
=(10v2)?-(10> @ 10@h R
=100x2-100 =100
PQ =100 =10 9t
=§—g=l{i—§z—zu§,c0t1’:g—§=£=l
PR 102

cosecP=——=——=+2
QR 10

sec P

UY 15. AP AABC ¥, 2 B R THBIUT 8, AC = 10 AH dUT AB = 6 AW &1 sin C,
cosCHﬂTtanC%ﬂﬁﬂﬁﬂﬂﬁl‘El



°d:

AABC ¥, SitarH 93 |

BC?*= AC?- AB® g
:102—62 w
=100-36 =64 -

BC =64 =8 TW B  gu Cc

o AB_ 6 _

11 —AC—I =
BC

| 00

cosC =

=
D e ol Qo

=

2 &
Wl

tanC = 3
4



